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Chapter 4 Quiz

1. Cosmo Company produces a product whose cost is $24. Assuming the company uses a cost-plus pricing system, what profit per unit would be earned on a selling price set to earn a profit margin of 30% of cost? 
a. $  7.20 
b. $  9.36
c. $16.80
d. $31.20

e. None of the above
2. Hamby Company expects to incur overhead costs of $20,000 per month and direct production costs of $125 per unit. The estimated production activity for the upcoming year is 2,400 units. If the company desires to earn a gross profit of $50 per unit, the sales price per unit would be which of the following amounts? 

a. $283

b. $275

c. $230

d. $475

e. None of the above

3.  Joint products A and B emerge from common processing that costs $80,000 and yields 5,000 units of Product A and 4,000 units of Product B. Product A can be sold for $100 per unit. Product B can be sold for $80 per unit. What amount of the joint costs will be assigned to Product A if joint costs are allocated on the basis of market value?  (round to the nearest dollar) 

a. $35,556

b. $48,780

c. $31,220

d. $44,444

e. None of the above

4.  At the beginning of 2008, Barr Co. estimated that its total annual fixed overhead costs would amount to $100,000. Further, Barr estimated that its volume of production would be 4,000 units of product. Based on these estimates, Barr computed a predetermined overhead rate that was used to allocate overhead costs to the products made in 2008. As predicted, actual fixed overhead costs did amount to $100,000. However, actual volume of production amounted to only 3,600 units of product. Based on this information alone, 

a. Products were costed accurately in 2008.

b. Products were overcosted in 2008.

c. Products were undercosted in 2008.

d. Product costing has nothing to do with overhead cost.

e. The answer cannot be determined from the information provided.

5.  At the beginning of the year, Roach Company expected to incur $54,000 of overhead costs in producing 6,000 units of product.  The direct material cost is $20 per unit of product.  Direct labor cost is $30 per unit.  During Janaury, 500 units were produced.  The total cost of the units made in Janaury was:
     a. $29,500
     b. $25,000
     c. $   4,500
     d. $         0
     e. None of the above.
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